MIAM I-DADE, MIAMI-DADE COUNTY, FLORIDA
] METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Florida Shutters, Inc.
1055 Commerce Avenue
Vero Beach, FL 32960

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: “Impact” Aluminum Bahama Shutter

APPROVAL DOCUMENT: Drawing No. 1001A, titled “Impact Bahama Shutters”, sheets 1 through 10 of 10,
prepared by W. W. Schaefer Engineering & Consulting, P.A., dated November 17, 2000, signed and sealed by
Warren W. Schaefer, P.E. on March 18, 2004, bearing the Miami-Dade County Product Control Revision stamp
with the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises & renews NOA #00-0411.08 and consists of this page 1, evidence submitted page(s) as well as
approval document mentioned above.

The submltted documentation was reviewed by Helmy A. Makar, P.E.

uZ—; ,4 M—\/ NOA No 04-0130.03

Expiration Date: 03/08/2009

ol /’L'L / 04 Approval Date: 04/2%‘2:3411




Florida Shutters, Inc.

1.

A.

2

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #00-0411.08
DRAWINGS
1.  Drawing No. 1001A, titled “ Impact Bahama Shutter ”, prepared by W. W. Schaefer
Engineering & Consulting, P.A., dated November 17, 2000, sheets 1 through 10 of 10,
signed and sealed by Warren W. Schaefer, P.E.

TESTS
1. Test Report on: 1) Large Missile Impact Test, per PA-201
2) Cyclic Wind Pressure Test, per PA-203 and
3) Uniform Static Air Pressure test per PA-202, of Bahama shutters,
prepared by Hurricane Test Laboratory Inc., Report No. 0205-1203-99, dated
February 28, 2000, signed and sealed by Vinu J. Abraham, P.E.

CALCULATIONS

1. Anchor analysis and calculations dated 03/29/2000, Pages I to 14, prepared by W. W.
Schaefer Engineering & Consulting, P.A., signed and sealed by Warren W. Schaefer,
P.E.

MATERIAL CERTIFICATION
1. Certified Tensile Test Report No. 0AM-142, prepared by QC Metallurgical Inc., dated
03/02/2000, per ASTM ES8-93, signed and sealed by Frank Grate, P.E.

NEW EVIDENCE SUBMITTED
DRAWINGS »
1. Drawing No. 1001A, titled “Impact Bahama Shutters”, sheets 1 through 10 of 10,
prepared by W. W. Schaefer Engineering & Consulting, P.A., dated November 17,
2000, signed and sealed by Warren W. Schaefer, P.E. on March 18, 2004

TESTS
1.  None.

CALCULATIONS
1. None.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS

' o ,jL/K‘/) ,q M«%\/

" Helmy A. Makar, P.E.
Product Control Examiner
NOA No 04-0130.03
Expiration Date: 03/08/2009
Approval Date: 04/22/2004



DRAWN BY: CHECKED BY:
W.W.S, WW.S.

112" MAX. SEE NOTE FOR ALLOWABLE SHUTTER WIDTHS 56" MAX, ~——— PLOT:

I T-L " » " woen e 9g" " I SEE SECTION "A" 1=24 DAT‘173:/17/00
28" MAX, ——f=——128" MAX, —=}=— 28" MAX. —=—}~—28" MaX. ggg 'S'/Eg:EON,\llNGATO 28" MAX, ——=f— 28" MAX. —— e To »
H r ‘ E
Q\ > > > - EY 3 + 011 Q’A/A WALL \ + £ * Q'/Q WALL g
e > e = == e s
' 26 ! 26 5
@] @) N @
“ N { | I | %
SHEET SEANS T0— ee = p STORM BAR: SHEET SEAMS 10— —— = : STORM BAR: g
e N = = | O I 5. S U N == (D)= ts20001/3 :
MULLIONS. SHEET SIMILAR | 1 ' ' e = TS2X3X1/8 MULLIONS. SHEET ' = = TS2X3X1/8 a
MAY SPAN ACROSS g \ ! | i _ . MAY SPAN ACROSS S ! —= g
MORE THAN ONE | f f ! 1R = TS2XSKI/8 \ORE THAN ONE | | Y = TS2K51/8 _
XUSLEUA%N WIHoUT ) | | | AT kAUSLé&%N WTHOUT T | AT g
. 96" MAX. — i : = = = = .Ir = T = \' =2y . 96" MAX. / ‘::*—L/ = — = Y —[ri Y,
1 || " ] T — 1 T —
| | : | ] SEE "STORM BAR | @\ \@ T \osee "storv B | @
! i | i ! END CONNECTION ! : ; END CO”NNECTION é .
| | | ! ; DETAILS” ON | | | DETAILS” ON $52
\ : SHEET 7 | gl SHEET 7 ~uds
S / | ]i (27) ,E ‘ESEE SECTION AT:I | | | \SHUWER - gijg
ARMS; —— [ , IFOR FASTENING TO i N ; W
SEE ARM SPACING . ) I | WAL i _SFE "FRAME CORNER— : i ] \—® SEE ARM SPACING E& Y
TABLE ON THIS j ! ! ! ! n " i ! | TABLE ON THIS SHEET ZEgw
SHEET, i | i | Al DETALL" ON SHEET 6 L ) | G
-~ N DR T i s i _{— ~ _\'_— "__'{_' I B A - Dgﬁ OE
¥ ¥ ¥ ¥ ¥ ¥ L2 ¥ LY \\ ; \ — / / 3 g E:J
o SEE "OPTIONAL BASE CLIP"\/ (A B LE2Z
ggicﬁl%EEgEOSIR%M;EﬂTgOR C 2-3 DETALL" ON SHEET 7 11119 \/ N\ :
(S)IFGSLTEO@A P\IIBSLRE FOR EXTERIOR ELEVATION ERIOR EVATION £
N PLE z
I ot QUAD PANEL SHUTTER _ EATERIOR EL o
SCALE: 1/2'=1'~0" MAX. ALLOWABLE DESIGN WIND LOADS DOUBLE PANEL SHUTTER tr:.: o =
POSITIVE NEGATIVE SCALE: 1/2"=1’_0" % é éoz
vl W, AR
SENERAL NOTES: 50 PSF 8 psF ARM SPACING TABLE | 32es
' - o™ 3
1. ALL ALUMINUM EXTRUSIONS SHALL BE 6063-T5 ALLOY UNLESS SHOWN OTHERWISE ON THESE DRAWINGS. SEi S%”UJS Ff‘EDSJggS‘ L%AA%STAABSLESOS{‘ROSLHLEE%FSBY SHUJT ER HEIGHT | MAXIMUM ,,SPACING z| ¥2 3’%3
2. T SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER TO VERIFY THE STRUCTURAL INTEGRITY OF SHUTTER SPAN. STORM BAR SPAN & STORM BAR 48" OR LESS 26 @1 E5 ey
THE EXISTING STRUCTURE TO SUPPORT THE LOADS SUPERIMPOSED BY THE SHUTTERS. SPACING, 49" < h < 80" 45" 51 ug g2
3. THESE SHUTTER SYSTEMS ARE DESIGNED TO WITHSTAND WIND PRESSURES, IN THE OPEN POSITION, : T < 70 3 L2 | £z 35
ESISL%LIL@ccgggM(FzéSEgggP I?DUI%I) NWIND SPEEDS UP TO 90 MPH IN ACCORDANCE WITH THE FLORIDA R Tk ES 280 28]
4. THESE SHUTTER SYSTEMS HAVE BEEN DESIGNED & TESTED IN ACCORDANCE WITH THE FLORIDA NOTE: THE NUMBE.’% OF PANELS IS GOVERNED BY: 85" < h < 96 78" ¢ =7 g2y
BUILDING CODE (FBC) 2001 EDITION AND PROTOCOLS TAS-201, 202 & 203. 1. IF STORM BARS ARE REQUIRED, ANY NUMBER OF PANELS : = 3. @
(FBC) ' 0 VALUES IN THIS TABLE ARE BASED ON PRESSURES 3 =
PN St VAL PRI er M 6 U PROMDNG T OVERAL SHUTER WOTH D088, || g S o o mo v | |
e o e e b 5 GG
6. EACH SHUTTER ASSEMBLY SHALL BE PERMANENTLY (ABELED AS FOLLOWS: : B , NOTE: ALL 2 PANEL SHUTTERS REQUIRE JUST |z & 28
FLORDA SHUTTERS, INC MAY BE USED & THE SHUTTER OVERALL WIDTH MAY BE INFINATE||  — = ARM AT EACH SDE! 2 b3
VIAMI-DADE. COURTY PRODUCT CONTROL APPROVED PROVIDING THE PANEL WIDTHS DO NOT EXCEED 28", g oo &g
7. ALL CONCRETE SUBSTRATE SHALL BE MIN. 3000 PSL. PRODUCT REVISER .
8. ALL WOOD SUBSTRATE SHALL BE MIN. G = 0.55 DENSITY. _ as complying with the Florida ol g &
STORM BAR NOTE: THE NUMBER OF STORM BARS REQUIRED Buiding Code = 2
9. A 33 1/3% INCREASE IS USED IN THE ANCHOR DESIGN CALCULATIONS DUE TO WIND LOAD. WITH EACH SHUTTER TYPICALLY VARIES FROM 170 3 & IS Q;;?ﬁf?;ﬁ?%‘;e o130 2
DEPENDENT ON SHUTTER SIZE & REQUIRED DESIGN PRESSURE. y “’;" el oo
SEE ELEVATION SKETCHES & LOAD TABLES ON SHEETS 9 & 10 By [1¢ - [ lator 1001A
Mismi Dad wet Controd
FOR STORM BAR REQUIREMENTS. Bivision 1SHEE;FN°-1O




B 1/4" X MIN. 21/4” TAPCON 2" MIN. @ BLOCK/CONCR. 7 QUL s [T
} @ i 1" FROM ENDS & 12" MAX. O.C. 3/4" MIN @ WOOD FRAME MEMBER [ N
S 1/4" TAPCON ‘ @ Siimye N ‘ &
WHEN INTO BLOCK/CONCR.; ?H f ,
= S I T ] T
L 1" FROM ENDS & MAX. 1/2 g EQUAL -
15 _ 12" 0.C. :
SR 15 ! : NO. 12 SS. SMs |2
@_/Q N et Egc% OF BLOCK, \\*\ : . / S/STL SMS &
OR CONCRETE NG e 1" FROM ENDS z
@ / (NOT FINISHES) ; . / & 16" MAX. 0.C. §
; O :
(26) @ , NOTE: FASTENERS SHAILX 5
@—\, \.. ‘ 26) BE PLACED IN EITHER
96 @_\ \“ HEAD FRAME STUD OR .
( @6 WALL STUDS. Lé:
D@~ |
200 1/ 0@ 4208
p——— - - bl i (\l"I
7 N REQD MINIMUM EMBEDMENTS & EDGE A %gé%
/ \ DISTANCE FOR OPENING FASTENERS (208298) <38T
LT L UL L1y j D FASTENER EMBEDMENT EDGE DISTANCE ﬁ ) %OOE
| / 1/4 TAPCON 1 3/4 INTO BLOCK/CONCR. | SEE DETAILS SBE
’ 171/2" INTO WOOD FRAMING 37 / /@ ‘ /__@ NOTE: FASTENERS MAY ==~
4 1/4-20 PANEL-MATE |1 5/8" INTO BLOCK/CONCR. | SEE DETAILS é/ BE PLACED IN SILL 5
— 175/8" INTO WOOD FRAMING 37 , /—® FRAMING OR WALL STUDS g
T0 EA. INTER- | NO. 12 SMS 1 1/2" INTO WOOD FRAMING 3747 , , z
MEDIATE MULLION 1/4” LAG BOLT 1 1/2" INTO WOOD_FRAMING 3/4 1] / O ‘ DY AN [ =
* 1/4-20 RAWL CAULK=IN [1 1/2" INTO BLOCK/CONCR. | SEE DETALS , é / 3 /T / E o g
\& i 2" LEG @\q: 1" MIN. % = QTEE'
SEE "STORM BAR TO @\E” J i L o et
MULLION CONNECTION | il DS | O | 2 g@.éd;
" , i CAN TURN ANGLE We Jgi
DETALL™ ON SHT. 7 (3) e o plock ~ \ BOTTOM LEG ,_ﬁ_/f ; / 3 o £8
/ OR CONCRETE 1/4-20 PANEL-MATE WHEN INTO 4 OPPOQSITE DIRECTION. _/ = T 5 tll-l-a %‘(‘n?
(NOT FINISHES) WOOD, BLOCK OR CONCRETE OR — w0 — : 3/4" J I EEERR
1/4-20 RANL CAULK-IN WHEN |~ i, > oo i) 1/2" MIN. —] o ES [2go L8]
T INTO BLOCK OR CONCRETE; ' o e | s 238
@_\{]’ e 1" FROM ENDS & MAX. 12" 0. [ \{_y ‘/GD_/ - / % 2% &%y
- 1/4-20 PANEL~MATE R EE z
@@ : ) t —] ] SEE "OPTIONAL BASE SECTION /& ;A;XFR% E(,\IMDIE %c?o u
‘ 2" MIN. — [~ 3/4" MAX. Clp OETAIL 1° ON SHEET £ DISTANCE = 3/4” =
‘ 7 FOR USE OF CLIPS SCALE: 1/2 FULLN2/ ~ EDGE DISTANCE = 3/4) -5 .
\, ' EDGE OF BLOCK,~ 12" MiN. @ BLOCK/CONCR, NO. 22 IN LEU OF 3 i
CONCR. OR < : (FACE MOUNT ONTO WOOD FRAME) ol & 5%
T WOOD FRAMING 3/4" @ WooD CONTINUOUS ANGLE 3| oo S5
3/4" 1/2" — (NOT FINISHES) .. ’ = gg
b SECTION (7 it W PSRN
: : S 1/4-20 PANEL-MATE OR SCALE: 1/2 FUNZ) Buiding Code = &
SEE "OPTIONAL BASE CLIP >{2,, LEG 1[4—20 RAWL CAULK-IN Acceptance No 94 -0 130.p3 g
DETAIL 1" ON SHEET 7 1" FROM ENDS & 12 (RECESS MOUNT ONTO BLOCK, CONCRETE OR WOOD FRAME) Expirgtion 8 J2.009
FOR USE OF CLIPS SECTION /AN MAX. 0.C. » 5y, B Moo , SR O TR
NO. 22 IN LIEU OF SCALE: 1/2 FULN 2 / Miami Dade Bybduct Contral 1001A
Vo 0US ANGLE  (FACE MOUNT ONTO  BLOCK/CONCRETE) Pivsion 2o 10




1/4" TAPCON

EQUAL
{_

1" FROM ENDS & 12" MAX. 0.C.

AN

AP OO ~—1

?

L]

XX

2" MIN.

1/2"

EQUAL -

\ EDGE OF BLOCK,
OR CONCRETE

/

3/16" POP RIVETS;
1 AT EA. END &
@ AT MIODLE OF SPAN
TO HOLD TUBE TO
HINGE.

NO. 8 S/STL SMS

1 AT EA. END &

AT MIDDLE OF SPAN

T0 HOLD TUBE TO
FRAME (SAME AT SIDES)

MIN. 1X2X0.062 ALUM. TUBE

C X

¥3/15 POP RIVETS;
1 AT EA. END &
AT MIDDLE OF SPAN
TO HOLD TUBE TO
HINGE.

NO. 12 S.S. SMS OR 1/4" SS.
LAG BOLT 1" FROM ENDS &
16" MAX. O.C.

NOTE: FASTENERS MAY
BE PLACED IN EITHER
HEAD FRAMING STUD OR
WALL STUDS

MIN. 1X2X0.062 ALUM. TUBE

OR MAX. 2X2X0.062 ALUM TUBE
AROUND OPENING AS REQ'D
TO OBTAN REQ'D GLASS

OR MAX. 2X2X0.062 ALUM TUBE
AROUND OPENING AS REQ'D
TO OBTAIN REQ'D GLASS

989 5 S

DISTANCE (2" AGAINST WALL)

-~ ®
«j/@
7

DISTANCE (2" AGAINST WALL)

NO. 8 S/STL SMS AT EA. END
& AT MIDDLE OF SPAN TO HOLD
@ TOBE TO FRAME (TYP. AT SIDES)

30

\— EDGE OF BLOCK,

MAX. OR CONCRETE
@-/ (NOT FINISHES) _
1/2" == = 1/4-20 PANEL-MATE OR S
1/4-20 RAWL CAULK-IN
SECTION (&Y [-mouews & i SECTION /2
SCALE: 1/2 FUL\ 3/ e SCALE: 1/2 FULN 3 /
(BUILD-OUT MOUNT ONTO BLOCK/CONCRETE) (BUILD-OUT MOUNT ONTO WOOD FRAME)

FOR FASTENER EDGE DISTANCE & SPACING
REQUIREMENTS, SEE SHEET 2.

3/4" ]

1/4 20 PANEL-MATE
1" FROM ENDS & 16"

MAX. 0.C.

NOTE: FASTENERS MAY BE
PLACED IN SILL FRAMING OR
WALL STUDS.

PRODUCT REVISED
&5 complying with the Fiorida

Buiding Code

Acceptance No 04-= O

Expxr&mnﬂw 03708 /74

By [l

Miami Dad :’v‘a Cﬁntm!

Division

DRAWN BY: |CHECKED BY:
WS, WM.S,
PLOT: DATE:
1=2 11/17/00
L
b
o
&
Z
Q
&
4
Q
wn
|17}
o
Z
*]
%)
&
@x
I}
=z
e
w
Q
<C
) W
953
Z2Z3
839
m<"’N
[ N
LlJLIJLJ_I
EQ .o
DLI_,I(.D
I=s0w
=g~
<@
oo >
= o~
Q:LDD:\./
SO
e >
o
Ld
24
o)
=
Q
[
S
=
7l
x
= 2
(] a
E Z zx 7
Z 20
% td [N
W ©7
< | Z4E @
=] o= z:°
< =z _U‘l‘-l-..
T o 'Jmué_
< Z 25
a re Eag
W, g9
— LD xsQ
Q W &1
< | == 3582
wa |, L0 =5~
= = <Zt(f) 255
o T I
£4 S @@
£ 7] «  Z
= & . 2
() U; a8
u
a
=4
3
5
=)
vz

CERTIFICATION
MAR 18 2004

=z
)
o
E
=

2

DRAWING NO. |R

1001A

SHEET NO.

3 o 10




DRAWN BY: CHECKED BY:

PLO:'W'S. DATE‘:N.W-S.
1=2 11/17,/00
1/4-20 X 2" SS. i %
NOTE: BOLT THROUGH BAR 2 ALTERNATE
THE ARMS MAY BE MOUNTED ON & INTO 1/4-20 MIN. ' =
THE WALL ABOVE THE SILL LEVEL JACK-NUT PN -
PROVIDING THE ARMS ANGLE TO a0 ss - ~
THE HORIZONTAL DOES NOT TERUBOLT GR . 2
EXCEED 30 DEGREES. 1/4" DIA. ALUM. R -
LOCK PIN - ;_l - g
1 g
1 S
L 2" MN. g
i ’IJQJ\
ANGLE MAY BE REMOVED [ P —— 2
‘g';EE,Z' Sggﬂgﬁ SN : ONE 3/8" RED HEAD ~l sBg
. SLEEVE ANCHOR WITH Z252,
1420 THUMB. SCREW - 11/2° MIN EMBED PELS
INTO' BLOCK,/CONCR. Eg N
ALTERNATE TO SECTION B ON THIS SHEET 583
(%] = <C
TWO 1/4-20 BOLTS (END ARMS ONLY) <38
INTO 1/4-20 ALUM. BRACKET_NOTES 2,00
RIVNUTS OR BRASS 1. MAY OPTION TO FASTEN BRACKET TO ANGLE SBE
MOLLY JACK—NUTS WITH ONE 1/4-20 S.S. THRU=BOLT IN LIEU T2
OF TO THE SHUTTER FRAME. , g
2. BRACKET MAY BE PLACED ON VERTICAL FRAME 1/4-20 X 2" S.S. " ALTERNATE 5
OR MULLION MEMBERS WITHIN 6" OF THE SHUTTER BOLT THROUGH BAR 2 LOCATION £
BASE. EDGE. & INTO 1/4~20 MIN. 2
@ — ] RVNUT OR MOLLY P g |5
MIN ALTERNATE JACK-NUT PAEONN E o o
1/4'-20 S, ' /\/@ LOCATION 1/4"-20 SS. g S 5|12 &0
THRU-BOLT & NUT OR PARON THRU-BOLT OR PN W N o | &, 38
1/4" DIA. ALUM, e AN 1/4" DIA. ALUM. ] R 3 < | €347
LOCK PIN LOCK PIN - 3| 3% 5.4
Ll 2 O b H
k\ O o N B R PRI . o o E; Eég
- : 5 £0%
. e it 8| 28 e
’ l ” v Elz g%o z.mu—l:i
@ L_] 2 MIN. e < ég.é §E_fl_:
o - = |27 = %
{J XS I I R 2 EE z
ANGLE MAY BE REMOVED H’— = o G v
= . SLEEVE ANCHOR WITH ¥
WHEN SHUTTER IS IN @ N /A 1/4'~20 THUMB. SCREW L 1 1/2" MIN EMBED «
OPEN POSITION B WITH SLEEVE INTO' BLOCK /CONCR. s s
20 THUMS SCREW ONE 3/8" RED HEAD ALTERNATE TO SECTION B ON THIS SHEET £ 23
s SLEE/VE ANCHOR WITH - 3
11/2" MIN EMBED PRODUCT REVISED | L
SECTION /B\ INTO BLOCK/CONCR. %s;ggnp%in{;gwi&h the Florida g % Z i
urding Code x
SCALE: 1/2 FULNA/ FOR FASTENER EDGE DISTANCE & SPACING T, ol B s
(OPEN SHUTTER AT FACE MOUNT CONDITION TO BLOCK/CONCRETE) REQUIREMENTS, SEE SHEET 2. By 4 4 4 1 £, | ormwme ro TRy,
SEE "ARM SPACING TABLE” ON SHEET 1 FOR SPACING OF ARMS !:)%m;iﬁosa ~ oA
YISIGR .
4 o 10




NOTE:

THE ARMS MAY BE MOUNTED ON
THE WALL ABOVE THE SILL LEVEL
PROVIDING THE ARMS ANGLE TO
THE HORIZONTAL DOES NOT
EXCEED 30 DEGREES.

TWO 1/4-20 BOLTS
INTO 1/4-20 ALUM.
RIVNUTS OR BRASS
MOLLY JACK-NUTS

OPEN POSITION

NP, (|
' L e

X X
ANGLE MAY BE REMOVED (>

WHEN SHUTTER IS IN (20) /

1/4-20 X 2"

JACK-NUT

30 DEG. MAX.
~—-‘

BRACKET NOTES

1. MAY OPTION TO FASTEN BRACKET TO ANGLE
WITH ONE 1/4"-20 S/STL THRU-BOLT IN LIEU
OF TO THE SHUTTER FRAME.

2. BRACKET MAY BE PLACED ON VERTICAL FRAME
OR MULLION MEMBERS WITHIN 6" OF THE SHUTTER

@ BASE EDGE.
” ALTERNATE
\ 3/4" — /‘@ LOCATION
1/4"-20 S.S. MIN PV,
THRU-BOLT & NUT OR : O

n \
1/4" DIA. ALUM.
LOCK PIN

S

o\

2 NO. 12 S.S. SMS

1/4"-20 THUMB SCREW
WITH SLEEVE

1/4" S.S. LAG BOLT

BOLT THROUGH BAR
& INTO 1/4-20
RIVNUT OR MOLLY

WOOD FRAMING STUDS

1/4°=20 S.S.
THRU-BOLT OR

, \ ALTERNATE
1/4” S5, LAG BOLT 3/4" -] /-@ TR
OR 1/4” PANELMATE INTO VN Py,

Pl

1/4" DIA. ALUM.
LOCK PN

SS.

ANGLE MAY BE REMOVED
WHEN SHUTTER IS IN
OPEN POSITION

1/4"-20 THUMB SCREW
WITH SLEEVE

D\
~
¢ N
e i:ﬁ e {:é L
3/4"
MIN.

2 NO. 12 SS. SMS

ALTERNATE TO SECTION B 0

1/4” S.S. LAG BOLT
WOOD FRAMING STUDS MIN.

1/4"-20 SS.
THRU-BOLT OR

SEE "ARM SPACING TABLE" ON SHEET 1 FOR SPACING OF ARMS

DN

/ , ALTERNATE
OR 1/4" PANELMATE INTO 3/4" —— LOCATION
B

~N

1/4" DIA. ALUM.
LOCK PIN

1/4-20 X 2" SS.

¢
. .

o

BOLT THROUGH BAR
& INTO 1/4-20
RIVNUT OR MOLLY
JACK-NUT

1/4"-20 THUMB SCREW
WITH SLEEVE

i

3/4”

NAN/A

2 NO. 12 S.S. SMS

ALTERNATE TO SECTION B O

N THIS SHEET

SEE "ARM SPACING TABLE™ ON SHEET 1 FOR SPACING OF RS-

OR 1/4” PANELMATE
SECTION /B INTO 4«000 FRAMING STUDS
SCALE: 1/2 FUL\ 5/
(OPEN SHUTTER AT FACE MOUNT CONDITION TO WOOD FRAMING)

FOR FASTENER EDGE DISTANCE & SPACING
REQUIREMENTS, SEE SHEET 2.

SEE "ARM SPACING TABLE" ON SHEET 1 FOR SPACING OF ARMS

as complying with the Florida
Buiding Code

Acrepiance Mo 04 130.
Expization Datc 63 /08 /7

Division

N_THIS SHEET (ND ARMS ONLY)

d CHECKED BY:

W.W.S,

FLOT: DATE:
= 11/17/00
=]
<<
o
>
[1a]
=z
Q
=
a
@
Q
17
W
o
g
o]
@
o
[i'4
o
=z
~~
L
[a]
<
=) W
0o 3
ZzZz 5
UNo
20O
g8
W
EQ ~o
x o))
DT W
=W
LL]A
<Qao
[ R R
£ r~
xu-)O\/
Su
o>
e -
W
&
=
o
=
=
z
(72 P
o
Wl )
E] o 8
21 =2 3z 7
[ad LW
(:F) o L=R
W “9 1
< Zhw” =
= = “g
> o >4
< = -(I)LI-“
T | GG a42
< Z 25
m = Foa
wa , To
— LD 89
Q W o
< <z Jg®
wa |, 50 25
—12 2005 .ml
EZ |z0° 203
o H o8 537
Z > oo
= 2 @z
N EE 2
ui
0.
LS -
z = e?
ol e ot
= o3
@ <l P2
b By .
& F
L
u% &
o
= &
=
DRAWING NO. ]REV.
SHEET NO.

5

or 10




o 17 OANEIWAOVZON S =
@5\\%/@\
|
/‘@ @\@\ Lz . \) el
i N h NV ® |
s F o % 2 m YIR- g [
ot = ' i = = : = @_\ / | :H Il “
17 MIN. — —~ — —— 1" MIN. R | I
SHUTTER WIDTH S e :lj o
I a
BLOCK OPENING SECTION /T rLusH vounT WOOD_FRAMED OPENING (5) / &) g
SCALE: 1/3 FULL\ 6 / ‘ R ___ $23
STORM BAR & ARMS NOT SHOWN FOR CLARITY! @'/ —————— ——— _.§§8
S5 & 4 PANEL SHUTTERS SIMILAR &’E_Jﬁ
FRAME CORNER DETAIL ESta
SCALE: 1/2 FULL 5%%2
532K
Z,00
NO. 8 S/STL SMS Sw &
BLOCK EDGE N0, 8 S/STL S R ==k
AT MIDDLE OF SPAN e &
70 HOLD TUBE TO 2
FRAME (TYP.) / 2
MIN. 1X2X0.062 ALUM. TUBE 0 |5
OR MAX. 2X2X0.062 ALUM TUBE / /\ H -
SRR AROUND OPENING AS REQD . Ele 3
[' T S T0 OBTAIN REQ'D GLASS J 2| & &l
e T DISTANCE (TYP.) o ZH T PR
o~ I : T 5 = E‘ég
E 33 & 4 1S \E’é % AD MULLION END CONNECTION DETAL | ;| £5 &
L my , < z 252
®_/ T \\ A SCALE: 1/2 FULL 1 §§8 :&”g
1" MIN, —= — —— -~ 1" MIN. 2
SHUTTER WIDTH - L
BLOCK OPENING SECTION WOOD FRAMED OPENING . @
BUILD-OUT o = by
SCALE: 1/3 FULL\ 6 / I E
STORM BAR & ARMS NOT SHOWN FOR CLARITY! PROBUCT REVISED O oo Go
3 & 4 PANEL SHUTTERS SIMILAR 8 complying with the Fiorida k ; )
uiding Code O &
ceeptance No_04 - /2 0. <% &
gxpigﬁen ilfaie 7 3@9 e "x;‘
g l/ —
Mida Dt Cont TN
SHEET NO.
6 o 10




DRAV‘;NW gY: CHECKED BY:
W.S. W.W.S.
EDGE OF BLOCK/CONCR. 3/ MIN. AT BLOCK/CONCR. SHUTTER EDGE OF BLOCK 3; MIN. AT TBLV(I)SSSCONCR. e @ ® \, I R
OR WOOD FRAMING 3/4" MIN AT WOOD OR WOOD FRAMING 3/4" MIN A
(NOT FINISHES!) WALL FINISH/SHEATHING (N(OT FINISHES!!)M \ i
@ _,‘ l._3/4 MAX. @ 3
STORM BAR @@ STORM BAR [
- | , 5
(¥ 3y { l Al N
="/ ;- | i &) T D 5
IR -
oS " :( * ] 7 i E
SHUTTER iN) el e ' /5/15" DIA. SLOTTED ! RON
L HOLE FOR THROUGH , g
3/8" DIA. HOLES @@ PLACE EMBEDS FLUSH SHOTTER BOLTS il A .
——1/2" M, WITH STRUCTURAL 3/8" DIA. HOLES — 1" (P) ' 2
. 1/ TYP. SURFACE (NOT FINISH ,
2 /2 o jcovcR— .| ) o s ~ STORM BAR TO MULLION
IR 1) NN o
STORM BAR END CONNECTION "A | STORM BAR END CONNECTION B CONNECTION DETAIL &
SCALE: 2"=1'-0" SCALE: 2"=1"-0" SCALE: 1/2 FULL Sl suo
. =z = ©
—ggo
4<Rg
St
20T w©
L=0wn
2203
EDGE OF BLOCK 3" MIN. AT BLOCK/CONCR. 29,8
OR WOOD FRAMING ; 0 &
SHUTTER (NoT FINISHES!!)——\—[S/ 4 MIN AT WOD i} 8y
WALL FINISH,/SHEATHING STORM BAR 5
2
D) o [
= 3
. g 512 5%
5| &, i
SHUTTER < W < °n L
f N PLACE EMBEDS FLUSH o 5.8
WITH STRUCTURAL 5/16" DIA. SLOTTED // <_l % %o-"j.:-é
TWO 1/4-20 PANEL—MATES SURFACE (NOT FINISH OR 3/8 DiA. ROUND ___3/4" C‘E 'zé EQN
OR RAWL CAULK-INS PER ’ HOLES | w2 isd
%lOP :F/JNTz% m%*t/mgg @ 5 OPTION TO DRILL HOLE AS 2 1/2" MIN. AT BLOCK/CONCR Q| 42 E 53;
. " IS8 Z3R
PER CLP IF O WOOD, OPTIONAL BASE \r:‘l%IT-IEW%%I; Sf__gﬁ;"\%‘“"t E]EFA%?-IEE% REQD AT OUTER FACE OF 1 1/2° MIII\-_I\) AT WOOD 2 END CONNECTION ¢ 23 |20 28T
SEE SHEET 2 FOR EMBED INNER FACE AS SHOWN. o |5_.483°
REQURENENTS) CLIP DETAIL 1 70 A CONTINUOUS SILL MEMBER STORM_BA SE ALED T N FERS o
. =1 - o2 O = T
IPLACE 1 CLIP AT EACH CORNER & MULLION LOCATION[ o o= =
i
z @9
2| =
PRODUCT REVISED g < EE
as complying with the Florida = N :
Buiding Code bl o
Acceptance No 04 ~ O S0. <03 © §

Expimswn Date 93 /0877 o o4

By_gi ) 21
Miami g" dugg Contro! DRAWING NO. [REV.
Division 1001A

SHEET NO.

7 o 10




2.062

oy

<~ 1.250 - ’——l.ZSO-—i
/]

0.062 2.234

@ MEJLLION

6063~T6 ALUMINUM

~—0.187

6061-T6 ALUMINUM

!

5.000

l

LENGTH = AS REQ'D

0.125
r

0250 0,052 2.000 T —200— 3.000 |
f__ 1625 _.| 0.375 0.093 l
f — ~—1.126 & D) 2.000 LENGTH = AS REQD
FRAME_CAP ol T LENGTH = 1" | I 2000
6063-T6 ALUMINUM @ HOLLOW BLADE ‘L e 0,125 J
' 2.183 | 6063-T6 ALUMINUM [—2.000 — LENGTH = 75 REQD -
I e | (5) FRAME_CORNER KEY - 4 RED STORM_BAR 8"
6063-T5 ALUMINUM STORM BAR A 6061-T6 OR 6005-T5
6061-T6 OR 6005-T5 ALUMINUM
0.050 ALUMINUM
Z-BLADE T |
6063-T6 ALUMINUM 3:000 T 4000
T LENGTH = ENTIRE 2000 | |LENCTH = f g gg LENGTH = 2" @ 13A
WIDTH OF SHUTTER _[0.250 2.000 4" @ 138
2000 1.5 MIN.|| _TH
KT IS LEG AT WALL‘_O_1 25 | - 0250
|
]

—2000—— |

@ MALE HINGE

’ STORM BAR "D

6061-T6 OR 6005~T5

BASE ANGLE
6063-T5 ALUMINUM

175)SIORM_BAR CONNECTION ANGLE

6061-T6 ALUMINUM

ALUMINUM
le—1.750 — [~ 0.780
0.062
L -E | 1¢87 0.380 /@ — 0.080 | 1?87
__4 ’_1_1_125 " _?.ZEO_EIA. g ‘
f us/w DIA. 0.062J f

6063-T5 ALUMINUM ”

0.750 —
[~ 1.000

f
STORM BAR CONNECTION ANGLE
6063-T5 ALUMINUM

3.000

2.381 !

FEMALE_HINGE

6061-T6 ALUMINUM

YZ" LEG AT WALL

AN

0.049
_t

o)

] M Z 8

SUPPORT BRACKET

6063-T6 ALUMINUM

n T
Lj*o-%o 1.5 MIN.
7/16 DIA o.oso] |

' 1" 0. SERRATED TUBE

SUPPORT BRACKET

6063-T6 ALUMINUM

2000 —~ | 5.000

. OPTIONAL BASE ANGLE
6063-T5 ALUMINUM

MATERIAL LIST

NO. DESCRIPTION NOTES NO. DESCRIPTION NOTES
1 SHUTTER FRAME 6063-T6 ALUMINUM 19 | L2XMINIMUM1.5X1/8 BASE ANGLE 5" LONG 6063-T5 ALUMINUM; 1 AT EA. VERTICAL SHUTTER MEMBER
2 | MULLION 6061-T6 ALUMINUM 20 | OUTER PORTION OF SHUTTER ARM 6063-T6 ALUMINUM
3| FRAME CAP 6063-T6 ALUMINUM 21 | INNER PORTION OF SHUTTER ARM 6063-T6 ALUMINUM
4 | Z-BLADE 6063-T6 ALUMINUM 22 | 0.050" THICK ALUMINUM HURRICANE SHEET 3003-H14 ALUM.; MIN. SEAM OVERLAPS = 2" @ MULLIONS
5 | HOLLOW BLADE 6063-T6 ALUMINUM 23 | 1/4" STL BOLT OR THREADED ROD W/WING NUT |[STORM BAR TO SHUTTER MULLIONS
6 | L2X2X0.093 FRAME CORNER KEY 6063-T5 ALUMINUM; PLACED AT EA. FRAME CORNER 24 | 1/4" MOLLY JACK NUT OR 6061-T6 RIVNUT FOR SETTING OF NO. 23 ABOVE INTO MULLIONS
7 | TS2X2X1/8 STORM BAR 6061-T6 OR 6005-T5 ALUMINUM 25 | 1/4-20 S/STL BOLTS & 6061-T6 RIVNUTS AT FRAME CORNERS & 12" MAX. 0.C. (SHEET TO SHUTTER)
8 | TS3X2X1/8 STORM BAR 6061-T6 OR 6005-T5 ALUMINUM 26 [ 3/16" 5052 ALUMINUM POP RIVETS 1" FROM HINGE ENDS & 6” MAX. 0.C. (TOP HINGE TO SHUTTER)
9 | OPEN 27 |1 3/16" 5052 ALUMINUM POP RIVETS 1" FROM ANGLE ENDS & 6" MAX. 0.C. (BASE ANGLE TO SHUTTER)
10 | TS5X2X1/8 STORM BAR 6061-T6 OR 6005-T5 ALUMINUM 28 | 1/4-20 S/STL BOLTS & 6061-T6 RIVNUTS 1" FROM ENDS & 12" MAX. 0.C. (BASE ANGLE TO SHUTTER
11| L2XMINIMUM1.5X1/8 CONT. BASE ANGLE 6063-T5 ALUMINUM; SECURES SHUTTERS CLOSED 29A | NO. 6 X 5/8" S/STL P.H. SMS SECURES Z-BLADE END TO FRAME CAP (2 PER BLADE END
12A | L3X2X1/4 STORM BAR END CONNECTOR 6063-T5 ALUMINUM; 2" LONG; USED WITH-QUT BUILD-OUT || 29B |NO. 8 X 5/8" S/STL P.H. SMS ISECURES HOLLOW BLADE END TO FRAME CAP (2 PER BLADE END)
12B | L3X2X1/4 STORM BAR END CONNECTOR 6063-T5 ALUMINUM; 4" LONG; USED WITH-OUT BUILD-OUT || 30 |NO. 8 X 3" S/STL F.H. SMS 2 PER MULLION END THROUGH FRAME
13A | L4X2X1/4 STORM BAR END CONNECTOR 6063-T5 ALUMINUM; 2" LONG; USED WITH BUILD-OUT 31 |[NO. 6 X 1 3/4" S/STL FH. SMS 2 PER FRAME CORNER INTO CORNER KEY
13B | L4X2X1/4 STORM BAR END CONNECTOR 6063-T5 ALUMINUM; 4" LONG; USED WITH BUILD-OUT 32 |NO. 6 X 5/8" S/STL F.H. SMS 1 PER FRAME CORNER INTO FRAME SCREW BOSS
14 | FEMALE TOP HINGE 6061-T6 ALUMINUM; FULL WIDTH OF SHUTTER 33 | 1/4" X MIN. 3" STL. BOLT W/WING NUT 1 PER STORM BAR END THROUGH END ANGLES & BAR
15 | MALE TOP HINGE 6061-T6 ALUMINUM; FULL WIDTH OF SHUTTER 34A | 1/4-20 RAWL CAULK-IN EMBED FULL ANCHOR BODY INTO BLOCK/CONCR.
16 | SHUTTER ARM SUPPORT BRACKET 6063~T6 ALUMINUM; ARM TO SHUTTER BRACKET 348 [ 1/4-20 MALE OR FEMALE PANEL MATE EMBED 1 1/2" INTO WOOD & MIN. 1 1/4" INTO BLOCK
17 ] SHUTTER ARM SUPPORT BRACKET 6063~T6 ALUMINUM; ARM TO WALL BRACKET 35 [1/4" STL BOLT OR THREADED ROD W/ WINGNUT |ANCHORS STORM BAR ENDS TO WALL ANCHORS
18 | OPEN 36 | 1/4-20 STEEL BOLT ANCHORS STORM BAR END CLIPS TO WALL ANCHORS

37 [ 1/4-20 S/STL BOLTS & 6061-T6 RIVNUTS 2 PER BASE CLIP INTO SHUTTER FRAME

Zs/s" DIA. HOLES
FOR WALL ANCHORS

| OUTSIDE_ARM
6063-T6 ALUMINUM

—0.049

ol

7/8" 0.D. SERRATED TUBE

(21) INSIDE_ARM
6063-T6 ALUMINUM

NOTE: ALL DETAILS ARE
DRAWN TO 1/2 FULL
SIZE UNLES NOTED
OTHERWISE.

PRODUCT REVISED

as complying with the Florida
Buiding Code
Acceptance No 04- - P/ 5
Expiration Pate 05 /08 /2 0o g
By 1 .

Pinmi Dad;md&ct Control

Division

DRAWN BY:

W.W.S.

CHECKED BY:

WW.S.

PLOT:
1=2

DATE:
11/17/00

DATE

BY

REVISION DESCRIPTION

NO.

DRAWING TITLE

(DADE)

IMPACT BAHAMA SHUTTERS

FLORIDA SHUTTERS, INC.
1055 COMMERCE AVENUE

—

MANUFACTURER

VERO BEACH, FL 32960
(772) 569-2200

& CONSULTING, P.A.
8895 N. MILTARY TRAIL; SUITE C~204

W. W. SCHAEFER ENGINEERING

CONSULTANTS

PALM BEACH GARDENS, FL 33410
PHONE: 561—-775—-4902 FAX: 561-775-4903

CERTIFICATION

MAR 18 20

)/

. SCHAEFER, P.E.
"E. NO. 44135

DRAWING NO.

1001A

SHEET NO.

8 or

10




- C065-G/L—195 XV ZO6b—GLL—195 INOHd| .. SElv¥ “ON 7' :

5 ls 0022-69G (2L4) orres 4 aNICND HOVIE Wava Id_U3IIWHOS S Nawavm [ o
mw_ g 096¢¢ 14 'HOVIg OM3A +$0Z—2 3LINS NIvYL ANVININ ‘N S6899 —
x|{. e - : .

A JNNFAY JD¥INN0OD GGOIL v'd ‘ONILINSNOD ® . S «|S
== *ONI ‘SY3LINHS VaINO14 ONIMIINIONT ¥343VHIS ‘M "M . o — | &
NLOVINNYW SINVITNSNQD R o = O m
| < = B0z g1 avw  ESJE
zZ]|.n —
Eadl e 3ava SYU3LINHS VAVHYE LOVdNI R Ty =
g |2 3va | A8 NOILJINOSIA NOISIAZ  J'ON ( ) 1L ONIMYND NOILYJI4I11432
><
= me
- Ou .
= N g
. > 2 M g
= = o = 9
[ = | = = 18
| = ] < W = 0 =
W o - 22 ¥
Dlﬂ__.rm ] _u% % Wwwaemm P
EOW 2 _B 1 T.m..mwn =2
=z > N SR 1SR P
[ ) | RSSO SO UNPI. P § ) ES DU DR § | S — =R R ) ool
< _ S 2ESRE-NES
! = 22EE% 3%
_ | ! G Lo Eis<d &=l
! &)
& “n W N
- i w T _Alﬂ
= [ ot »n» %2
= (=] I A P
=z | = 1. =
« I © ) IO - HHHHHHHHHHHHM_ m M =
= E - 2] =
@ _ > | t O
& | = <
] —] & o
le 1 L
i = Q
! =5
] oo
[T N | || S ———— | | D pumpnp | [ S
Z = b L)
—J
o (= q! |
H A T = ey v
s 2 (&) & (&) =
= £ = ]
W
2 g E 5%
T I ot (@]
w w w D
T W
2 2 2 ==
e
o . &
> -
=
=
o
(o]
2 | 3 =Nt
W = nAlm 0J o N~ nlolvnimlo
~F < —Elw QY| — (Mmoo
W o 0|~ |~V loin|s |
= — U U)
5 L) 7 o =
g i 5| RYD
1 L=
& 3 M s Wi I T N=|o w
© \ mw_ <C| 0O ol oo |aomMm
_ o &= ajlom|t|lo|ig|s|9]o |
) ra i O~|lovivit ||
, | | = Ty
T oo (W [
—J O 2]
- | A W o [0 o
= m ! “ m| =2 << m e m — = = = = -] = = H
Z = I - =W =S N[t O |o|ojN| |
S - e | w ) Do Lo ||| =i~~~
||||||||| i R || S S Lol - x| T T =
e E b — = O, )
@ 2 ! i Of a << L ©
» I =|
| =
A I w W
I ! =
| ~—
I
_IML o1 . e i 1| - _ 4
== _ g
bsg End ;
Bowv [ &) . s .
Y ] = =
. | : —F
o o - -
& = N
E | m M = | N | S
2 2 Eu D [ ] IF
72} 7 _W_OW ¢_P_ | _.u_.[_
N N 8 2| M= F——F——
!
M ] —
[0
: ]
> f t \ L
AMH [ -k S wH
" NEE
w M - I
~
z ! | B8 : || OO
w ol H = “w. =
llllllllllllllllllllllllllllll I Ty NN e L <C
lllllllllllllllllllllll Li————— b —————— [n N
“ Wm N = bl Ll oo
] — ! ! 2 ! “ (0 o
! | 0 f @ B
i = | AN R B
.nm “ W i I | ! ~
[ 1 wm 72} “
4 = H“__.s o " |
llllllllll o e e - — ——— . ——— — — N gafieiensih el i [ [ Sade e e ——— | ) S — —— e s ] | = —_
||||||||||| O ———m e L Tl =% = = 5 ; ————————
oh '} o
5 TIPS Beg gl ) )
% | =5 = oy HE e
i O L) J 175 (4] 145 % =
=8 °© = e o &
lele =X pu T _T
“ & =1 = | = | =
_ = E _ E _ = _ =
IIIIIIIIIII | W > > >
e . S S S 3 [75) mwnu mwuu nu\m
T 2 X 2




PRESSURE LOAD TABLE FOR STORM BARS & BAR END CONNECTIONS PRESSURE LOAD TABLE FOR STORM BARS & BAR END CONNECTIONS T )
SHUTIER|  BAR ALLOWABLE PRESSURES (PSF) ALLOWABLE_PRESSURE (PSF) SHUTTER BAR ALLOWABLE PRESSURES (PSF) ALLOWABLE PRESSURE (PSF) N
WIDTH SPACING AS CONTROLLED BY BARS AS CONTROLLED BY CONNECTIONS WIDTH SPACING AS CONTROLLED BY BARS AS CONTROLLED BY CONNECTIONS z
IN IN CONN "A" CONN "B" & "C” IN IN CONN "A” CONN B" & 'C”
W W TS2X2X1/8| TS3X2X1/8 | TS5X2X1 /8|00 /CONC. /BLOCK | WOOD | BLOCK /CONG W W TS2X2X1/8 | TSIX2X1/8 | TSSX2X1/8| ™ o00 /CONG. /BLOCK | WOOD | BLOCK,/CONC .
36 42 80 80 80 80 80 80 24 - 39 80 80 70 53
48 80 80 80 80 80 70 30 - 3 80 80 56 42 g
36 80 80 80 80 80 80 96 36 - 26 80 73 47 35 'g?_-
42 42 80 80 80 80 80 69 42 - - 80 62 40 30 §
48 80 80 80 80 80 60 48 - - 70 54 35 26 2
30 80 80 80 80 80 80 24 - 31 80 80 66 50 %
36 80 80 80 80 80 70 30 - 25 80 80 53 40 2
48 12 80 80 80 80 80 60 102 36 - - 75 68 74 33 =
48 70 80 80 80 70 53 47 - - 64 59 38 28 =
30 80 80 80 80 80 75 48 - - 56 51 33 -
36 71 80 80 80 80 62 24 - - 80 80 62 47 o
54 42 61 80 80 80 71 53 30 - - 73 77 50 37 9(
48 54 80 80 80 62 47 108 36 - - 61 64 4 31 el wuo
24 75 80 80 80 80 80 42 - - 52 55 36 27 £2¢9
30 60 80 80 80 80 67 48 - - 46 48 31 - Gen8
60 36 50 80 80 80 75 56 24 - - 80 80 60 45 & = RI,‘
42 43 80 80 80 64 48 30 - - 64 75 48 36 EE -2
48 37 80 80 80 56 42 12 36 - - 53 62 40 30 5 % Q 0
24 54 80 80 80 80 77 43 - - 48 53 34 26 <O® "QT
30 3 80 0 80 80 61 I — n 20 47 30 - ool
66 3 36 80 80 80 68 51 995
42 31 80 80 ‘ 80 58 44 g
18 27 73 80 79 51 38 B
2 20 80 80 80 80 70 LOAD TABLE INSTRUCTIONS: g
30 52 80 80 80 75 56 1. SELECT AN OVERALL SHUTTER SIZE (TOTAL WIDTH & HEIGHT). o 5
& > 2 2 %0 50 o2 il 2. DETERMINE THE REQUIRED DESIGN WIND PRESSURE FOR THE SHUTTER (OBTAIN FROM A FLORIDA L 2
2 - o 80 80 >) 40 REGISTERED ENGINEER) 512 5.2
43 - 54 80 73 47 35 - ' » " Tl 2 Sep
n = = = % % = 3. IF THE SHUTTER HEIGHT IS LESS THAN OR EQUAL TO 76", GO TO "PRESSURE TABLE FOR SINGLE 5| 4, o5
W - 5 5 %0 5 = SPAN SHUTTERS” ON SHEET 9 AND COMPARE THE REQUIRED DESIGN PRESSURE TO THE ALLOWABLE <| 2<es
78 % - 5 50 50 57 I PRESSURES IN THE TABLE. IF ALLOWABLE PRESSURE IS EQUAL TO OR GREATER THAN THAT REQUIRED, T| &gt
' 7 . % 80 77 e 37 NO BAR IS REQUIRED & YOU ARE FINISHED. IF ALLOWABLE PRESSURE IS LESS THAN REQUIRED, STORM S| xE 2,
T - 7 80 57 3 7 BAR(S) ARE NEEDED, SO CONTINUE TO NUMBER 4 BELOW. 5| B3 &S
24 - 62 80 80 80 60 4. IF BARS ARE REQUIRED, GO TO LOAD TABLES ON THIS SHEET. L3 |,55 288
" 30 - 50 80 80 64 48 5. GO TO APPLICABLE SHUTTER WIDTH IN TABLE AND CHOOSE THE DESIRED BAR SPACING. il L
o . ” = = > 2 6. GO ACROSS THE TABLE AND CHOOSE THE BAR AND CONNECTION WHO'S ALLOWABLE PRESSURE = |37 8%y
= - = T = e = IS GREATER THAN OR EQUAL TO THE REQUIRED PRESSURE. IF THE DESIRED BAR AND/OR e gz
o - o = = - = CONNECTION TYPE DOES NOT MEET THE REQUIRED SHUTTER DESIGN PRESSURE, CHOOSE ANOTHER ;
0 - 5 % 0 5 E BAR SPACING AND CHECK THE BAR TYPE & CONNECTION AGAIN. REPEAT UNTIL DESIRED & CORRECT BAR «
%0 % . ) 80 77 50 T & CONNECTION TYPE ARE DETERMINED (NOTE THAT THE LESSER PRESSURE OF THE BAR, CONNECTION TYPE, |z 53
2 n 78 50 5 X 7 OR MAXIMUM ALLOWABLE OF +/-80 PSF SHALL CONTROL THE SHUTTER). Z 2
48 - - 80 58 37 28 PRODUCT REVISED = S
1. ALL PRESSURES ARE FOR BOTH POSITIVE & NEGATIVE AND ARE PSF. Buiding S, ith the Florida 5 z
2. REF. SHEET 7 FOR CONNECTION TYPES. AcceptanceNo_04-=0]30. 03 2
Expiratiop Date 03 /08 7200 ¢ =
By . DRAWING NO. |REV.
Miami D roduct Control 1001A
BDivision SHEET NO.
10 o 10




